
7

3
2

27
28

26

18

24
9

14
16

22

13

20

21

23

15

511 17 6101 4

19

25

8

12

ITEM 
NO

PART 
NUMBER REV DESCRIPTION QTY

1 N106-010 C BBO Chassis 1
2 N106-043 A BBO Shield Rear Inner 1

3 N106-044 A BBO Shield Rear 
Outer 1

4 N106-053 B BBO Bottom Shield 1
5 N106-059 C BBO Door Top 1

6 N106-060 B BBO Door Bottom 1

7 N920-034
Hexagon Flange 

Head Tapping Screw 
ST4.8X13

5

8 N920-032 Blind Rivet 3.2x10 SS 8
9 N106-041 B BBO Cooking Disc 2

10 N106-029 A BBO Inspection Plate 1

11 N106-069 A BBO Firebox Shield 
Left 1

12 N106-070 A BBO Firebox Shield 
Right 1

13 N900-006 A Brick (230 x 115 x 38) 4
14 N106-073 A BBO Brick Retainer 1
15 N900-025 A Brick Front 250 2

16 N106-077 A BBO Baffle Plate (463 
x 248 x 6) 1

17 N106-074 A BBO Wire Rack 2
18 N900-056 A Bakelite Knob 2
19 N900-021 A Air Slide Rod 140 1
20 N900-093 B Air Slide Type 4 1

21 N106-028 A BBO Air Deflector 
Primary 1

22 N920-071 Hex Set Screw SS M10 
x 50mm 2

23 N920-057 Washer SS M10 x 21 x 
1.2 2

24 N106-042 A BBO Damper 1

25 N900-091 A Baker Handle Rod 1
26 N920-064 Coupling M8 x 25 1

27 N920-009 Button Head Socket 
Screw M6 X 10 2

28 N106-075 A BBO Insulation 4

DN106-000

2 of 8

Big Bakers Oven

A4

+/-1mm (unless specified)

1:50 Sheet

Description

5-7 Duncan Rd, Dry Creek, SA 5094
Ph: +61 8 8349 8332

Tolerances:

*CD* = Critical dimension
RevPart No

Scale:

Drawing Notes:

This work is protected by Copyright.

Glen Dimplex
Australia

All dimensions are in mm DO NOT SCALE DRAWING



ITEM PART NO REV DESCRIPTION QTY.
1 N900-136 A Nectre Door Big Casting 1

2 N900-133 A Nectre Door Big Air Slide Retainer 1

3 N900-134 A Nectre Door Big Air Slide Rod 1

4 N900-135 A Nectre Door Big Air Slide Slotted 1

5 N106-058 A BBO Door Air Slide Mesh 1
6 N900-090 B Nectre Door Big Glass 1

7 N900-140 A Nectre Door Glass Retainer 2
8 N900-141 B Nectre Door Handle 1
9 N900-143 B Nectre Door Latch Stop 1

10 N900-144 B Nectre Door Latch 1
11 N900-029 A Door Handle Coil 1
12 N900-088 B Handle Spring  Small 1

13 N920-001 Washer M12 x 24 x 1.5 2
14 N920-024 Button Head Socket Screw SS M5 X 8 6
15 N920-028 Hexagon Nut Prevailing Torque M12 1

16 N920-029 Washer M5 x 10 x 1 2
17 N900-106 B Nectre Door Big Fibreglass Rope 1

18 N900-107 B Nectre Door Big Glass Seal 1

4

7

EXPLODED VIEW

17
1

18

7 16
13

6

51510139

3

8

12

11

14

2

All dimensions are in mm

CN106-059

2 of 5

BBO Door Top

A4

+/-1mm (unless specified)

1:4 Sheet

Description

Australia

Ph: +61 8 8349 8332

Tolerances:

*CD* = Critical dimension
RevPart No

Scale:

Drawing Notes:

5-7 Duncan Rd, Dry Creek, SA 5094

This work is protected by Copyright.

Glen Dimplex

DO NOT SCALE DRAWING



ITEM PART NO REV DESCRIPTION QTY.

1 N900-136 A Nectre Door Big Casting 1

2 N900-133 A Nectre Door Big Air Slide Retainer 1

3 N900-134 A Nectre Door Big Air Slide Rod 1

4 N900-135 A Nectre Door Big Air Slide Slotted 1

5 N106-054 B BBO Oven Glass 1
6 N900-140 A Nectre Door Glass Retainer 2
7 N900-141 B Nectre Door Handle 1
8 N900-143 B Nectre Door Latch Stop 1

9 N900-144 B Nectre Door Latch 1
10 N900-029 A Door Handle Coil 1
11 N900-088 B Handle Spring  Small 1

12 N920-001 Washer M12 x 24 x 1.5 3
13 N920-024 Button Head Socket Screw SS M5 X 8 6
14 N920-028 Hexagon Nut Prevailing Torque M12 1

15 N900-081 B Thermometer 1
16 N900-082 B Thermometer Cover 1
17 N920-007 Washer SS M8 x 17 x 1.2 1
18 N900-107 B Nectre Door Big Glass Seal 1

19 N900-106 B Nectre Door Big Fibreglass Rope 1

All dimensions are in mm

BN106-060

2 of 5

BBO Door Bottom

A4

+/-1mm (unless specified)

1:4 Sheet

Description

Australia

Ph: +61 8 8349 8332

Tolerances:

*CD* = Critical dimension
RevPart No

Scale:

Drawing Notes:

5-7 Duncan Rd, Dry Creek, SA 5094

This work is protected by Copyright.

Glen Dimplex

DO NOT SCALE DRAWING

15

EXPLODED VIEW

17

2

191

18
5 6

149128

3

7

11

10

6
12

4

13

16

12


	Sheet2
	Drawing View12




